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Question 1 [Marks: 1.5]:

-1 0 O
Find the diagonal matrix D3 that satisfies D= [ 0 v2 0 ]
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Question 2 [Marks: 1.5]:
1 1 0 . .
Let A=(3 g] be a matrix and I= (0 l] be a unit matrix. Find x and y if

A’ +x A=-y I.
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Question 3 [Marks: 1.5]:
Let AE Ms:3(R) with determinant |A| =2. Find |2(adj(4))"! + 4] .
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Question 4 [Marks: 1.5]:

Question 5 [Marks: 2]:

By using the Cramer’s rule, find values of x and y in solution of the following lincar system:
X +2y+3z =1
2x+5y+3z = 2
X +8z = 0.
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Question 6 [Marks: 2]:
Find condition o .
n a, b and 1 .
solutions: ¢ for which the following linear system has infinitely many

X—-2y+ 5;
4 x —Sy + 87
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